
1 (8)Vers 2020-05-18

Garanti/Warranty.
Service, resevdelar/spare-parts

Sweden: Tel: +46 (0)35 15 44 75
Norway: Tel: +47 69 31 02 30
Finland: Puh: 0207 43 50 00

www.hafa.se
www.hafa.dk
www.hafabad.no
www.hafa.se
www.hafabathroom.ru
www.hafa.eu

E-mail:
service@hafa.se
service@hafabad.no

Breeze, Breeze Deluxe
Round

Art.nr 1450770, 1450775

 

Sid/Page 3-7  Monteringsavnisning/ Monteringsveiledning/ Monteringsvejledning/ Asennusohje/ Assembly instruction

Sid/Page 8  Skötselråd/ Behandlingsråd/ Rengoring- og vedligeholdelse/ Hoito-ohje/ Maintenance advice

Sid/Page 2 
 

Förpackingens innehåll/ Pakkens innehold/ Pakkens indhold/ Pakkauksen sisältö/ Contents of package

T20

PH2



1 x 1 x

r

1 x

ts

1 x

o

N3

1 x

p

N4
1 x

q

N5

Breeze deluxe

2 x

a

3 x

c

M6X25

2 x

d

M4X16

2 x

h

1 x

l

4 x

f

4 x

i

M6X18

2 x

m

M4X20

2 x

g

2 x

j

1 x

k

1 x

n

2 (8)

3 x

e

2 x

b

ST4X35



5

d

4

f

f

o

e

3 (8)

2 31



4 (8)

7

hk

6
q

c

b

c

e
r



9

j

a

n

o
g

8

i

p
i

5 (8)



b

q

2

6 (8)

Se/katso/see 

Blandaren ingår inte köps separat
Mixer is not included- buy separately.

1450761

Breeze deluxe Breeze

m

10

l

11

1

Läs mer på sid 8
Read more on page 8

SILICONE

SILICONE

SILICONE

s

t



7 (8)

12



8 (8)


